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@ 1. Rod ABC is connected through a pin and slot to a sleeve which slides on a (Db F_ C
vertical rod. Before the weight W of 100 N is applied at C, the rod is inclined at
an angle of 45°. If K of the spring is 8000N/m. what is the angle 6 for
equilibrium? The length of AB is 300 mm and the length of BC is 200 mm 2 Gﬁ,]

when 6 = 45°. Neglect friction and all weights other than W (Note: The force
from the spring is K times its contraction.) A
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@ 2. Determine the vertical movement of joint C, if member FG is lengthened by 50mm.
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3. T\_avo idmt_ical rods are pinned together at B and are pinned at A and C. At B, there is a torsional spring A
with rotational stiffness 500 Nm/rad. What is the max weight W that each rod can have for a case of /Ig
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stable equilibrium when the rods are collinear? (LJ‘—\AJL\’('S 'rol P(g,BC-/C‘\UL&:(' I\M'O(P‘ﬂ-{/ 1
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4. Collar B may slide along rod AC and is attached by a pin to a block which may slide in the vertical slot.
Derive an expression for the magnitude of the couple M required to maintain equilibrium,




